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( B )I1. In the picture on the right, how many squares do you need to fill?
(A) 1+2+3  (B) 1+2+3+4 (C)1+2+3+4+5 (D)1+2+3+4+5+6
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In which figure the area of the slashed part is not i of the whole figure?
(A)the first (B)the Second (C)the third (D)the fourth
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( C )15. Christy calculates the sum of 14+19+24+29+...+64, and accidentally undercounts a
number, and the answer is 370.Which number did she undercount? (A)44 (B)54
(©)59 (D)49
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(A )19. The side lengths of the three squares are 3 cm, 4 cm and 5 cm respectively. What is
the area of the slashed part in square centimeters? (A)18 (B)20 (C)22 (D)24
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( C )23. The right column is the division of positive integers, the ]
remainder is 7, and the number in the bold box is not 0. Find a+b- []
c-d=? (A)3 (B)4 (C)5 (D)6 HEN
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